EARAROBEEIERT — 2 N— IBISH —F

201559827 (H) 13m@{£E2H

m C1—4#%# C1 ¥5%3m%LE ‘ [R#&] B ‘ [msm]  — | & (&) 14000 B
[AE4£] 1% :150,000  ~ 2% :3500MH  3%&:14,000”  437%:8,000H ~ 53 :5,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= — AL -30. —1-1- X — FEBT (£8)
1155 A FHS5T 4 3 a510 1(%))2 1-1-1-1 39.0 1 :’225) ?‘%Eﬂ%}%—ﬁ]{ﬁ
L:BALINF Ry IR B MVSTYLT N RE
S it 5 | AlRE 1:31.4 7-7-7-4 | 38.9| — 3 469 |WTEX (&)
2 o | MUOY 54.0 ®) (1) | *AiEk
L:T7LBAT49 7748 B:RUTIELT Y b F—L— - JvIS> - 77— LERE
— s . HPEA : —4-3- — BAREE (£H)
N PESE Y PET TS o g oy A B ? 5_17% mETET
R:w>Ny&rHhT7r B:I—-KwdvrX Gtie]
REE— : 00— — Z/EEA (EE)
4 6| A—77 x4 it 6 s 1.(342).3 3-2-2-2 | 40.9 5 (4_816) *A\/E;IE:
T4 —TALNT b BigA PLE /=¥ I7=4b
= s ey o6 | AEBEER 1:32.8 6-66-5 | 40.6 | — 6 443 | EBTE (1£R)
5l7/7/7Z27>E7>3 56.0 2 1/2) 1) (H’SE75'7?
iR TA4 MY B:T7zlLy b & RIAA
- o e~ ey 2| — ShEEA ()
6 MDYt H 6 207 1 (374)1 2-3-4-6 | 42.2 4 (4_633) iﬂ;ﬁﬁﬁiﬁ i1
R:2F v B:wUILHH— H 4535
N MATZ . 55— — JErtiktt (1£%)
71l By s=un # 3 A 1.(365>.3 5-5-5-7 | 43.1 7 <4+611) HANS "
Lv—NFY>F— B:vv/Otv4a milll BERl
® I —F—EBIERL
13—F— 5,3,6,4,1,7,2
2= = 5,6,3,4,1,7,2
Jol=5r= 5,6,4,3,1,7,2
40 —F— 5,6,4,2,7,3,1
[ N3
BB 5 130 74K 2-5 140H B & 2-5 300M 3EHE 2-4-5 320M
8 B 5 110M 4-5 100M B E 5-2 350/ K31 5-2-4 910M
2 240M 2-4 190

ABICOVWTRDTEEERROODE. TR LIV,




